Calculating % Median BMI (weight for height or W4H)
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Calculating % Median BMI (Weight for Height or W4H
Look at table below: you need to find their age, read off the 50" centile value and use it to calculate the

50th Centile BMI values

age boys | girls
years Kg/m2 5 I i
o 16.037] 16399 age oys girls i . + (hai K
o2l 16125 16519 years Ka/m2 BMI _wzelght in kg + (height in
o5 16219  16.637 15 19.317]  19.955 metres)
9.75| 16.318)| 16.765| 15.25) 19.475| 20.083|
10| 16.423| 16.898| 15.5, 19.632 20.206 _ . th
1025 16533 17.036| 1575 19.786]  20.324 %mBMI = (actual BMI + 50
105 16.648  17.179) 16| 19.938  20.438 centile BMI) x 100 [see chart]
1075 16.768]  17.327] 16.25|  20.087]  20.547
11 16.892 17.478| 16.5 20.234) 20.652|
11.25| 17.02 17.634| 16.75) 20.378 20.751
115 17.154]  17.793 17 20519 20847 Example
1175 17.291]  17.954] 17.25 20656 20938  14.5 year old girl,
12 17.433  18.117] 175 20791 21.026 o
1225 17579 18.281 17.75| _ 20.923 21.11 ngght. 30kg
12,5 17.729|  18.446 18] 21052 2119 Height: 158cm
12.75| _ 17.881 18.61) 18.25 21178 21.267, R -
13 18.037] 18772 165 21301 21347 BMI:30/(1.58x1.58) =
13.25  18.194  18.932 1875 21422 21413 12kg/m?

135 18.354 19.09| 19 2154 21.482 th : . 2
12 BT b 1928 16es  aiseg DOO™ Centile BMI: 19.684 kg/m
14 18.675 19.395) 19.5 21768 21612 %mMBMI =(12/19.684 x100)
1425 18.836]  19.542) 19.75  21.878  21.674) - 61%

145 18.997|  19.684 20 21.986  21.735)
1475 19.158  19.822





